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PEHUR: Witk SomLx1 i, 4°CIRAE:

A= W 6mLx1 i, 4°CLRAE:

W WA 40mLx1 i, 4°CHRAE

WA= Bl i, 4°CRAEs  IRFRTIN SmL 48K 45mL R 6% BR 76 7 T A5 i

HRAUERNES:

1. EEIE TR, BB E AR 0E N, BOEF EE, RRAEEAESE (1041 - R
BUAARL (mL) 9 500~1000: 1 ELHT G2l 500 7740 BB ML IN A TmL $2 G0, 8 75 Ik i i 4 B ml 4t
Ml (UK#, Th= 20% 8% 200W, #E7 3s, [AIBG 10s, H 30 %); 8000g 4°C & L» 10min, B L3, BHik L
FRill

2. HEL WBALRE (g) « RBURAFmML)N 1: 5~10 BLHLE] CGEFRELZ) 0.1g 2H48, A 1mL 2
B, #HATUKI A . 8000g 4°CHE L 10min, B i, Bk LA,

3. i CGRO FEf: BN,

ME L
1. 2066 30min BLE, KR 620nm, ZEIEKHE.
2. JIikER (FE EP B PRI FFRRAD -

SIS it A s
A 100 100
A — (uL > 180
WA= (UL D 740 740
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| K L) | 360 | 180
37°CHRF XML 1h J&, 90CT/KIE 15min (5%, BlL/KAER), BEE
8000g 25°C &0 10min, H L3, f3HE{LTR
WAL (uL) 350 350
RA= (uL) 650 650

WA, 90°C/K¥S 10min (35'%, Byib/KAE5), A, 620nm AZEBKIAE, MEPOLE A, 5 AA=A

DFEE-A XTI o BRI B e — IR

CL EHitE:

1. ARHESAE FIE R EA RN y = 5.018x - 0.0462; x AFREMKE (mg/mL), y NFIEHE.

2. IiE (K CLWEIRITHE

BRIRE X B mL M3E G BEME =4 1pg W% E SN — /MBS 775847
CL ¥ #1(ug /min/mL)= [1000 X (AA+0.0462) +5.018xV JZ M ]+V FE+T =39.8%(AA+0.0462)

3. M. E AR CL W AR
(D BBEAKREITE

BRLHE X B mg AR E AR EME T A Ipg W& E SCN— NG 7507
CL i /7(ug /min/mg prot)=[1000 X (AA+0.0462) +5.018xV i ]+(V ££xCpr) ~T

=39.8x(AA+0.0462) +Cpr
(2) FeREAREEE 5

BRI S B g AV ML 1 u g RAETREE SCA—ANIEE 184
CL % 71(pg /min /g BEH)=[1000 X (AA+0.0462) +5.018xV S JH(Wx V £V BEE) =T

~39.8x(AA+0.0462) ~W
(3) &40 RN 5

BRI X B 1 A B B A A B AL T A 1 0 g TR E SO — AN TSR
CL # /7(ug /min /10* cell)=[1000 X (AA+0.0462) +5.018xV S ]+(500xV FE+V B ) =T

=0.0796x(AA+0.0462)

1000: 1mg/mL=1000ug/mL; V &: KMARREAER, 1.2mL;

VEE: IIAEEARRET, 0.1mL; VAR

JONERBORAARR, 1mL; T: KNEFA, 60 min; Cpr: FEATEAFIKRE, mg/mL; W: FEAFE, g 500:

M BRI S, 500 T



